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Exercise 12.1
Question 1:

Evaluate:
(i) 3~ (ii) (—4)~ (iii) GJ
#. Answer 1:
(i) 32 = 3i [ . GL }
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Question 2:
Simplify and express the result in power notation with positive exponent:

M (—4) () (i) (%) (iii) (-3)" XGT

3

@) (373 @) ()

€. Answer 2:
(]) (_4)5 +(_4)R _ (_4)542 [_-. a"~a" :am-u]
= 1 B 1
=(—4 3 — —m =
( ) (_4)3 i ami|
i 1Y P —__ al" _a"
o (7] () : H _a"}
l l i m\" mxn
= 2_:,,3:? s (a ) =a i|
4 5 ! 4 5-l _. ) a ik a™
(iii) (-3) x 3 =(-3) x5 o ==
54 : ’" ngm
= {("1)4x34}x3—4 B (ab)" =a"b }
= 347'l x54 ‘o a"egt= amﬂf]
= 3¥x5* =5 [ a’=1]
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(]V] (3—7 _:_3—10))(3—5 _ 3—7—[—Iﬂ] X3—5 I:,', am “:"a” — am—n]
=37M0%375 =3P x37 = 33*‘(‘5) |: a"xa" :auﬁ-n:l
=37= La v g™ = i}
3- i am
= 1 1 i 1
2—3 _7 3 - . —iH ___ =
(v) X( ) X ><(_7)3 I a a’"}
= : — = 1 _.'. (ab)’" :ambm:|

Question 3:
Find the value of:

() (3°+47")x20  (ii) (27 x4 )+27 (i) GJ +GJ +G]_'

(iv) (3" +4"+5" )” (v) [‘2]-

E)
#. Answer 3:
(1) (3°+4")>< 2P = (l+i)x > [ G = alm}
= [4+1]x23 B 02 = 3 02
4 22
= 5x28" |: a"+a" :a”"”]
=5x2°=5x%x1=5 [ a”zl]
e R
- 2—3 ;2—2 = 2—3—(—2] - 2—3+2 - 2—I I: ﬂm +an =am_"]
1 Lo gamd]
1Y (1Y (1Y e RO BT S I (I
(i) [3] +[§] +(ZJ S (3 4) [ et
= 27 4 3 gD o (a) :a"”‘"}
=2°4+43"4+4"=4+9+16=29
; g 11 1Y L
(iv) (3"'+47'+5 ')0 =(§+Z+§] [ 4 :a_}
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Question 4:
Evaluate:
-1 3
(1) 5 2:5 (ii) (5—' xz-')xs-'
#. Answer 4:
. 871 X53 (23)_I X53 273 >“:53 s mY' _ mxn
(1) 2_4= = :24 .(a)_.
= 2—3—(—4) x53 — 2—3+4 x53 l:... a"+a" = am—u]
= 2%125 =250
1" 1 1
i 5'x27M)x67 = =x= |x— voat=—
@ (s5'x2") [Szjﬁ [ a}
i 1 1
Sl =
10 6 60
Question 5:
Find the value of m for which 5" <57 =5,
#. Answer 5:
Sm +5—3 = 55
= 5m—{—3} :55 |:_._ a"+a" = am—n:l
= 5m+3 — 55
Comparing exponents both sides, we get
=3 m+3=5
= m=5-3
=% m=2

Question 6:
Evaluate:
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#. Answer 6:
. ' (1! 3‘[4)’ [ 1}
1 Sl = = =3l = || = = 2 =—=
o {3 HY
= {3-4}=-1
o @R
8 5 g" 5% “\b)  B”
= 5::'*(4) x847(77} [--- a’" +a" Za”l’*"]
: -
=5M><8‘”7=53><83=§_T ':cf”=—%}
i a
512
125
Question 7:
Simplify:
25xt 37x107° x125
i) ———— (r#0 =
M 53 x10xt7® ( ) (iD) 5"x67
#. Answer 7:
(l] 25)(.fﬁ4 _ Szxt44 —52_(_3}_I xt4-(_8) . am _:“an _am—rl:l
53x10xt® 5 x5x2xt® 2 o
~ 5.7.-{-3—1 XI—‘I-+8 Y 54 ><I"4 [ 625 I4
- 2 % E M ©
- 35 %10™° x125 ~ s X(ZXS)'S x5° B 3% 28 5% 50 %5 [ . (ab)m _a,,,b,,,:|
57 %67 - 5'7x(2><3)_5 5T %3S '
37x27x577 39x279x57 [ oo o +]
= = i3 X =S
§7 %09 %37 §V%d %3 @ra=d

> 3757(75] % 2*57(75) XS*Z*(:."] I:_-_ a" =a" = ﬂ"kr':l
= 37ﬁ+5 e 2*54»5 X 5*24»7 = 3(] % 2[) % 55
=1x1x3125 [+ &=t

=3125
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